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PAPER - II
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Yyz-II

:This paper contains Fifty (50) Multiple-choice/Assertion and Reasoning/
Matching questions/carrying TWO (2) marks each. Attempt All the

questions.

- Wt v (10) oglsellu i, WA A BSs oiriadinn Ul
S, B WAL waol avll 8. s w8 (R) am 8.

2.

The winds of upper atmosphere
which blow 16-20 kms high in the
northern part of India are known

as :

(A) Westerlies
(B) Jet Streams
(C) Easterlies
(D)} Chinook

Which of the following is not an air

pollutant ?

(A) Smoke

(B) CO, (Corbon Dioxide)
(C) Nitrogen Gas

(D) Sulphur Dioxide

Geography-I1
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The fall in temperature in the

troposphere is known as :

(A) Adiabatic rate

(B) Lapse rate

(C) Temperate rate

(D) Thermal rate

Himachal

Punjab, Haryana,

Pradesh and Gujarat can be
classified under one group of states.

Which of the fo]lowing 15 the

group ?

(A) BIMARU

(B) DEMARU

(C) Demographically progressive

(D} Demographically stagnant

Geography-11
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HIM—BA28  (troposphere) i

AMHIAAL HedlL 84 ¢ 58 &7

(A) »U[BuiaRs 32 (Adiabatic rate)
(B) @t 2 (Lapse rate)

(C) 232 32 (Temperate rate)

(D) add 32 (Thermal rate)
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10 °C of temperature is equal to

................. of temperature.
(A) 20 F
(B) 30° F
(C) 40° F
(D) 50° F

The ‘snow line’ would be at the
lowest altitude in which of the

following Himalayas ?
(A) Kashmir

(B) Kumaon

(C) Punjab

(D) Assam

Adoption of high yielding variety
seeds and use of artificial fertilizers
are the basic objectives of which of

the following revolutions ?
(A) Green revolution
(B) White revolution
(C) Black revolution

(D) Red revolution
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From which of the following places
is Katmandu nearest by air

route ?

(A) Gorakhpur
(B) Patna

(C) Kolkata
(D} Varanasi

After the two subsequent five
year plans were formulated there
was a break because of which of

the following reasons ?

() Break of Indo-Pak war
(#) Devaluation of currency
(tif) Break of plague epidemics
(A) (i) and (ii)

(B) (i) and Cii)

(C) (i) and (ii})

(D) (i), (i) and (i)

Geography-II
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10. Which of the following factors is

11.

responsible for zonal stratification

in vegetation types from moist

subtropical to dry artic ?

{A) Temperature

(B) Altitude

(C) Longitudinal extent

(D) Humidity

Syntaxial bend is an important
characteristic of which of the

following ?

(A) Western ghats

(B) Satpuras

(C) Aravallis

(D) Himalayas

Geography-11
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12.

13.

14,

The imaginary lines joining points

of equal depth are known as :
(A} Isohytes

(B) Isohaline

(C) Isobath

(D) TIsocline

The coriolis effect is the result

of :
(A) Earth's rotation
(B) Earth’s revolution

(C) Earth’s rotation as well as

revolution
(D) Pressure gradient

Which factors influence ocean

currents ?

(A) Earth’s rotation (Coriolis force)
(B) Winds across in ocean

(C) Density of the water

(D) Convection currents

Geography-11
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15.

16.

17.

Folding of the earth crust is the 15

result of :

(A) Compression
(B) Eruption
(C) Spreading
(D} Tension

A pair of steps on the sides of river

valley is known as :
(A) Alluvial fan
(B) Levees

(C) Meanders

(D) Terraces

Which one among the following has 17.

the maximum number of national

parks ?

(A) Assam

(B) West Bengal

(C) Andaman and Nicobar Islands

(D) Tamil Nadu

Geography-I11 9
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18.

19.

20,

Ozone layer is found in :
(A) Thermosphere

(B) Stratosph.ere

(C) Troposphere

(D} Mesosphere

Which State of India is known as

“Tiger State’ ?

(A) Gujarat

(B) West Bengal
(C) Madhya Pradesh
(D) Assam

Much of the rainfall along the

Western Ghats is of

nature.

(A) Orographic
{B) Cyclonic
(C) Frontal

(D) None of the above

Geography-IT
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22.

23.

spice produced in India.
(A} Cardamom

(B) Saffron

(C) Clove

(D) Corriander

R. Luni originates near Pushkar 22

and joins :

{A) Arabian sea
(B} Gulf of Cambay
{C) Rann of Kutch

(D) Lake Sambhar

............... . 1s the oldest major religion
to emerge in the west of the Indus

region.

{A) Judaism
(B) Christianity
(C) Islam

(1} Hinduism

Geography-II 11
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24,

25.

26.

The saturation of vapour pressure 24.

reaches a maximﬁm of 1013 mb

at :

(A) Boiling point

(B} Melting point
(C) Freezing point

(D) None of the above

Deccan Plateau of India is well 25,

endowed with :

(A) Coal, iron and manganese
(B) Coal, limestone and thorium
(C) Iron, mica and chromite

(D) Iron, limestone and chromite

There is no railway in which one 26

of the following country ?
(A) Afghanistan

(B) Pakistan

(C) Nei)al

(D} Bangladesh

Geography-II 12
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27.

28.

29.

Demographic structure of SAARC
nations shows the dominance of

.................... population.

(A) Child (< 14 years)

(B) Young (15 - 25 years)
(C) Working (26 — 60 years)
(D) Elderly (60 + years)

In the precision instruments like
theodolite, sextant and planimeter
which of the following scales is

used :

(A) Linear

(B) Diagonal

(C) Comparative

(D) Vernier

Select the largest scale :

(A) 1 inch = half mile

(B) 1 inch = one mile
{C) 1 inch = two miles
(D) 1 inch = one yard

Geography-II
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Ad salHl axdiqi ol [Qdva 67
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(A) i[5 iy ugld (Linear Scale)

(B) [assl 1y (Diagenal Scale)

(C) dqa-ieis Huugl (Comparative

Scale)
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30.

31.

32.

Convert 1" = 36 yards into 1R :
(A) 1: 1296

(B) 1 : 380160

(C) 1 : 63360

D) 1: 12000

Soils derived from weathering of

granite and gneiss rocks are -
(A} Red

(B) Black

(C) Laterite

(D) Alluvial

If an earthquake of moderate
intensity of 6 to 6.5 on Richter scale
strikes, then where would jt be most

harmful :

(A} Himalayan Mountuin Ranges
(B) Indo-Gangetic Plain

(C} North-Eastern Hill Region

(D) Deccan Platean

Geography-I1
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30.
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32,
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33.

34.

Which of the following regions of

India have the highest percentage

of the total forest ?

(A} Eastern and Western ghats

and Coastal plains
(B) Peninsular India
(C) Great plains
(D) Himalayas including purvanchal

Which one of the following
conditions in an area is considered

as drought affected ?

(;) When the rainfal} is less than

75% of the normal

(;i) When the rainfall is less than

100 em

(7ii) Maximum of three weeks from
the normal date of arrival for
a given region

(A) () and (i)
(B) (if) and (i)
(C) (i) and (i)

D) i), @), )

Geography-11
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35. Read the following statements

related to cause of climate change

and state which of them are

triue ?

(@)

(i)

(i)

(A)
(B)
(8)

(D)

Solar energy received at the
earth’s surface undergoes
changes because the amount of
energy given off by the sun
changes with the transparency

of the atmosphere.

The temperature of the sun’s
outer surface is about 1400°C
lower than the surrounding

dareas

The angle of the axis in relation
to the plane in which the earth
revolves round the sun is not

constant

{£) and (&)

(¢7) and (iif)
() and (iiz)

(2, (i) and (i)

Geography-II
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(C) (i) and (i5z)
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37.

38.

................... based his classification on
annual and monthly means of

temperature and precipitation.
(A) Koppen

(B) Trewartha

(C) Thornwate

(D) Critchfield

The challenge of development in the

broad sense 18 t0 ..o .
(A) improve the quality of life
(B) greater individual freedom
(C) richer cultural life

(D) less poverty

The groundwater recharge rates are
highest in which of the following

regions of India ?
(A) Bengal plains
(B) Rajasthan plains
(C) Lower Narmada

(D) Lower Mahanadi

Geography-I1
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39.

40.

Within troposphere air circulates

in the form of convective
currents, what do these convective

currents do ?

(A) Constantly distribute only heat

(B} Constantly distribute only

moisture

(C} Constantly distribute both heat

and moisture
(D) None of the above

Within the biosphere there are
several major regions containing
specific types of ecosystem. These

major regions are called -
(A) Biomes

(B} Ecosystem

(C) Biosphere

(D} Organism

Geography-II
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circulates) Halslis RN
(convective currents) gl Wy &,
oAdsls adolg o sl @7

(A) Mo Ml dyad [dazel

(B) Wl Mligeld ¥ [Qdze

(C) 23 w1 Migatr wdd Rdrel

D) GuaHiel S wg 4]

waaaMl [@lie wRBals e
AL 2S5 HoU B B Ul R

iAWy 7
(A) %[as
(B) wil2Rufa4l d
()

(D) wayle



41. ‘Zero Level’ from which land 41.

elevation and ocean depths are

measured is known as :
(A) Geodetic plane

(B) Mean sea level

(C) Bench mark

) Datumn plane

42. Which of the following rocks are 42

most subjective to exfoliation ?

(A) Basalt

(B) Granite

(C) Sandstones

(D) Limestone

Geography-11 19
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43.

45.

The relationship between cropping

pattern and the pattern of climatic

elements can be best represented

by :

(A} Hythergraph

(B) Tertiary Diagram
(C) Climatograph
(D) Ergograph

Circular and vector graphs are

examples of :
(A) Biaxial

(B) Triaxial

(C) Multiaxial
(D) Line graphs

The ownership of landed property
by demarcating the boundaries of

fields and buildings is shown in :
(A) Topographical maps

(B) Wall maps

(C) Cadastral maps

(D) Chorographical maps
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43.

45.

A aaude o ugly giar sy w1
Miolsall dedirl Aol didl w3l a

euldl usy?

(A) L1833

(B) eRiul swsum

(C) satSH2ius

D) 3w

Y oA dsezauls AL Gelery ©7
(A) dain

(B) udlu

(C) sguilu

(D) it sudw

Wt S Bretsar dliisq, Wazl

iR ML 5 M5 AL A5l sy ©7
(A) wmnag(+ sy

(B) ofld dousai-tl st

(C) méydl «sau

(D) a2 ygla-l s



46.

47..

The leﬁgth of equator is about
40,000 km and the velocity of
rotation is about 1700 km per hour.
What would be the velocity of

rotation at the poles ?
(A) O

(B) 850

(C) 1700

(D) 3400

If RF. 1 : 100,000 then 10 miles

would be represented by :
(A) 6.34 cm

(B) 6.34 inch

(C) 15 em

(D) 15 inch

Geography-II

46. [Eyaqn-dl douss 40,000 (3.4, s2qd1ay

w0 YR amadl afd ez seud 1700 5.4
52dl 49 8. dl ga Gur wrerurdl vl

sedl wal?
@ o

(B) 860
(C) 1700

(D) 3400

oyl RF. 1 : 100,000 ¢id 2R 10

wa salaal M sul el WAl ¢lu?

(A) 6.34 A.ML.

(B) 6.34 54

(€) 15 .Ml

(D) 15 94

[P.T.O.]



48. Which of the following factors N N
48. gl seald W2 Hld wady

are responsible for changes of

STV = . = '\?
seasons ? 2otinie]l sy wE o] role;2 s 67

(i) Earth’s magnetic character

@  yedld Yoy s, Fui G 24
whose north and south poles

_ el gal, yeelll gl Gy 20dq
are at the geographical poles of

the earth

&

(i) Constant orientation of the

@) el 431 Guad sl Auq.

earth’s axis towards polaris
(pole star) () suasal e yedld 66140 wal

(i) Inclination of the earth’s axis
“1H,

at 66%4° to the plane of earth’s

orbit | {A) (@) and (D)
(A) @) and (i)
(B) (i) and (i)
(B) (i) and (i)
{(C) @) and (D)
(C) (@) and (i)
(D) (D), (i) and (ifi) (D} ), (2 and (i)
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49.

50.

Births (—) Deaths (+) Inmigration

(~) Out migration =

(A) Growth of population

(B) Natural growth of population
(C) Negative growth of population
(D) Positive growth of population

Intensity of irrigation is defined

as

(A) Percentage of area under

double cropping

(B) Percentage of well irrigated

area to the net irrigated area

(C) Percentage of net irrigated

area to the net sown area

(D) Percentage of net irrigated
area to the total geographical

area

Geography:II
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49.

50.

e (=) ey (+) @ sl A

st s3dl () 2B WU =
(A) ardlylg

(B) stdl dxdlyls

(C) mutlcis ardlqle

(D) Fzla axdlyls
RS-l dladtdl =4 & -
(A) B ws s w3z [z

B) g gzt B dsanil [Rlciz 24
qivul RS semdl [Awiz-{l
25t

(C) Al i dso-dl [z »is

Yool 4idd [Rdirl sl

(D) divoit Rias dsu EaR 21 ga
oiotls Rraiadl estaudl

[P.T.O.]
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